Stainless Steel Pull

UAFS-HP zsvuzm-= IM!N!:%I!
[SUS FESIISY

Jn .
=
i i =
i il \
L1 \
L M
o HE-HEF @ rons
UAFS-HP o MEH4(C T <NIESUS30A &EERLTVETD,
. ‘sus3o4 o BUDTVWIRET .
tHES o RMEIFHEBLT LT,
PR ‘susxw ® 7 7VaVTRYDFBOABTUTERIL N (SUSXM7 )
E2RMMBULET . QUBY—ER(FIFE) = FIALE
AN
BT D mm
- HEmE = RUHBY—ER
2E € M Lf H h AL L1 ) i (g) e
UAFS-20-112-HP M6 |10 |49 36 20 125 [112 [1000 273 M6X12
UAFS-20-128-HP M6 10 51 38 20 141 128 1000 308 M6X12
UAFS-20-160-HP M6 10 |51 (38 20 173|160 1000 355 M6X 12
UAFS-20-200-HP M6 |10 |51 38 20 213 |200 1000 440 M6 12
UAFS-26-128-HP M8 |12 |57 |40 26 145 |128 1000 520 M8 12
UAFS-26-160-HP M8 12 |57 40 26 177 160 1000 600 M8x12
UAFS-26-200-HP M8 |12 |57 |40 26 217 |200 |1000 715 M8x 12
#1: AOFTHATIHBHETT.
o BFEIETE IS - MHEAINBK T T T A hETEL LT,
UAFS-20-112-HP
\
«a
UAFS-20-112-HP-P
\ —
« AR
T2
RUAEY—E R BIES) #CHADBA . BRREOFREIC[P]EE
LTLRE L,
™ IY-UE - JU—ViRa 4 U—YZIE
BEALSDEEL ST - Bl

N\ NBK @E/17y021 \, »0575-23-1162 2% » info@nbk1560.com I ) https://www.nbk1560.com



